

(An Autonomous Institution) Coimbatore-641035.

UNIT-II COMPLEX DIFFERENTIATION

Construction of Analytic functions

(construct too of Abaly)?c function:
Millor i Thomsen method
i) To find
$$f(x)$$
, when u is given
 $f(x) = \int [\phi_1(x, o) - i \phi_2(x, o)] dx$
where $\phi_1(x, o) = \left(\frac{\partial u}{\partial y}\right)_{(x, o)}$
 $\phi_2(x, o) = \left(\frac{\partial u}{\partial y}\right)_{(x, o)}$
ii). To find $f(x)$, when V is given
 $f(x) = \int [\phi_1(x, o) + i \phi_2(x, o)] dx$
where $\phi_1(x, o) = \left(\frac{\partial v}{\partial y}\right)$ and
 $\phi_2(x, o) = \left(\frac{\partial v}{\partial y}\right)$
 $\phi_2(x, o) = \left(\frac{\partial v}{\partial x}\right)$
iii). If $U - v$ or $U + v$ is given, then to find
Take $f(x) = u + iv$
 $if(x) = iu - v$

J. First the analytic function
$$f(z)$$
 whose
seal post is $u = 3x^{Q}y + 3x^{Q} - y^{3} - 3y^{Q}$
solo.
Green $u = 3x^{Q}y + 8x^{Q} - y^{3} - 3y^{Q}$
 $\frac{\partial y}{\partial x} = 6xy + 4x$

23MAT102-Complex Analysis And Laplace Transform C.SAMINATHAN /AP/MATHS





(An Autonomous Institution) Coimbatore-641035.

$$\begin{aligned} \varphi_{1}(x, o) &= \left(\frac{\partial x}{\partial x}\right) = 4x \\ (x, o) \\ \frac{\partial u}{\partial y} &= 8x^{2} - 3y^{2} - 4y \\ \varphi_{2}(x, o) &= \left(\frac{\partial u}{\partial y}\right) = 9x^{2}, \\ \varphi_{3}(x, o) &= \left(\frac{\partial u}{\partial y}\right) = 9x^{2}, \\ \varphi_{3}(x, o) &= \left(\frac{\partial u}{\partial y}\right) = 9x^{2}, \\ f(x) &= \int \left[\frac{1}{2}(x, o) - i\frac{\partial}{\partial x}(x, o)\right] dx \\ &= \int \left[\frac{1}{2}(x, o) - i\frac{\partial}{\partial x}(x, o)\right] dx \\ &= \int \left[\frac{1}{2}(x, o) - i\frac{\partial}{\partial x}(x, o)\right] dx \\ &= \frac{4x^{2}}{2} - i\frac{3x^{2}}{3} + c \\ f(x) &= 8x^{2} - ix^{3} + c \\ f(x) &= 8x^{2} - ix^{2} + 2x^{2} \\ f(x) &= 8x^{2} \\ f($$





(An Autonomous Institution) Coimbatore-641035.

$$= -xe^{x} coey - e^{-x} y e^{ry} y + xe^{x} c_{x}$$

$$= -xe^{x} coey + xe^{x} cosy + e^{x} y strony$$

$$= -xe^{x} cosy - e^{x} y strony + xe^{x} cosy$$

$$= -xe^{x} cosy - e^{x} y strony + xe^{x} cosy$$

$$= -xe^{x} cosy - e^{x} y strony + xe^{x} cosy$$

$$= -xe^{x} cosy - e^{x} y strony + xe^{x} cosy$$

$$= -xe^{x} cosy - e^{x} y strony + xe^{x} cosy$$

$$= -xe^{x} strongen method,$$

$$f(x) = \int [d_{1}(x, o) + 1 d_{2}(x, o)] dx$$

$$= [-xe^{x} strony + e^{x} y cos y + e^{x} strony]$$

$$= [-xe^{x} strony + e^{x} y cos y + e^{x} strony]$$

$$= [e^{x} cos y - xe^{x} cos y + e^{x} strony]$$

$$= i [e^{x} cos y - xe^{x} cos y + e^{x} strony]$$

$$= i [-e^{x} - xe^{x}]$$

$$f(x, o) = e^{x} - xe^{x}$$

$$f(x) = \int [o + i (e^{x} - xe^{x})] dx$$

$$= i [-e^{x} + xe^{x} + e^{x}] + c$$

$$f(x) = i xe^{x} + c$$

$$H_{no} v - e^{2x} (ty cos xy + xe^{x})$$





(An Autonomous Institution) Coimbatore-641035.

By Milline's Themeseon method,

$$F(x) = \int [\phi(x, o) - i \phi_{\alpha}(x, o)] dx$$

$$= \int (e^{x} + i e^{x}) dx$$

$$= (1+i) \int e^{x} dx$$
(1+i) $f(x) = (1+i) e^{x} + c$

$$f(x) = e^{x} + C$$
B). If $f(x) = (1+i) e^{x} + c$

$$f(x) = e^{x} + C$$
Solon.
Let $f(x) = (1+i) e^{x} + c + ie^{x} + ie^{$





(An Autonomous Institution) Coimbatore-641035.

UNIT-II COMPLEX DIFFERENTIATION

Construction of Analytic functions

By millipe's Thomson method,

$$f(z) = \int [\phi_1(z, 0) - i\phi_2(z, 0)] dz$$

$$= \int [-\cos^2 z - i(0)] dz$$

$$= -\int \csc^2 z dz$$

$$f(z) = \cos z + c$$

LOT

4]. Find the analytic function
$$f(z) = u + iv$$

where $u - v = e^{\chi} (\cos y - Sin y)$
soln.

f(z) - ant and

Let
$$f(x) = u + iv \rightarrow iv$$

 $if(x) = iu - v \rightarrow iv$
 $(i) + iv \neq iu - v$
 $(i+i) f(x) = u + iv + iu - v$
 $(i+i) f(x) = (u - v) + i(u + v)$
 $F(x) = U + iv$
Here $F(x) = (i+i) + f(x)$
 $U = u - v$
 $v = u + v$
 $Q(ver) U = u - v = e^{2}(wsy - Spry)$
 $\frac{\partial v}{\partial x} = e^{2}[\cos y - Bir y]$
 $\frac{\partial v}{\partial x} = e^{2}[1 - o] = e^{2}$
 $(x, v) = (\frac{\partial v}{\partial x}) = e^{2}[1 - o] = e^{2}$
 $(x, v) = e^{2}[2syn y - \cos y]$
 $= -e^{2}[2syn y + \cos y]$
 $\varphi_{0}(x, o) = (\frac{\partial v}{\partial y}) = -e^{2}[0 + i] = -e^{2}$





(An Autonomous Institution) Coimbatore-641035.

3.⁺ Determine the analytic function under stead
Put is Str 2x

$$(arver u = Str 2x
 $(arver u = \underline{Str 2x}$
 $\frac{\partial u}{\partial x} = (\cos h 2y - (\cos 2x) 2 \cos 2x - Str 2x/2 Str 2x/2 Str 2x)$
 $(arc h 2y - (arc 2x) 2 \cos 2x - 2 Str 2x/2 Str 2x/2 Str 2x)$
 $(arc h 2y - (arc 2x) 2 \cos 2x - 2 Str 2x/2 Str 2x/2 Str 2x)$
 $(arc h 2y - (arc 2x) 2 \cos 2x - 2 Str 2x/2 Str 2x/2)$
 $= (1 - (arc 2x) 2 \cos 2x - 2 (1 - (arc 2x/2))$
 $= (1 - (arc 2x) 2 \cos 2x - 2 (1 - (arc 2x/2)))$
 $= (1 - (arc 2x) 2 \cos 2x - 2 (1 + (arc 2x))(-(arc 2x/2)))$
 $= \frac{2[\cos 2x - (1 + (arc 2x)]]}{(1 - (arc 2x))}$
 $= \frac{-2}{(1 - (arc 2x)]}$
 $= \frac{-2}{(arc 2x)}$
 $= \frac{-2$$$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution)

Coimbatore-641035.

STE

-

UNIT-II COMPLEX DIFFERENTIATION

Construction of Analytic functions

$$=\frac{2(\cos 2\pi - 2(1+\cos 2\pi))}{1-\cos 2\pi}$$

$$=\frac{2}{1-\cos 2\pi} = -\frac{1}{1-\cos 2\pi}$$

$$=\frac{-2}{1-\cos 2\pi} = -\frac{1}{1-\cos 2\pi} = -\frac{1}{3\pi^{2}\pi}$$

$$=\frac{-2}{1-\cos 2\pi} = -\frac{1}{1-\cos 2\pi} = -\frac{1}{3\pi^{2}\pi}$$

$$\frac{dy}{2y} = \sin^{2}\pi - \frac{1}{(\cos 2\pi)^{2}} \left[2 \operatorname{STeh} 2y - e\right]$$

$$= -\frac{2}{3} \operatorname{STe} \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2} \left[2 \operatorname{STeh} 2y - e\right]$$

$$= -\frac{2}{3} \operatorname{STe} \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2}$$

$$\frac{dy}{(\cos 2\pi)^{2}} \left[\cos 2\pi \frac{2\pi}{2}\right]^{2}$$

$$= -\frac{2}{3} \operatorname{STe} \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2}$$

$$= -\frac{2}{3} \operatorname{STeh} \frac{2\pi}{2} - \frac{2\pi}{2} \operatorname{STeh} \frac{2\pi}{2}$$

$$= -$$